Installation Instructions
Part Number 450-177
2005-09 Ford Mustang

AIRAID &

INTAKE SYSTEMS . ws

Packing List:

Airaid Premium Filter 1
Airaid Intake Tube 1
3 1/2”t03”x2 1/2” Reducerl

#2 KIT177T

PROUDLY MADE IN THE #3 KITRDCRO05

2]

3 #4 KITHUMPHSO05  Urethane Hump Hose 1
#5 KIT1121MAFADA Filter Adapter 1
#6 KIT172CAD Cool Air Dam 1
OEM MASS AIR FLOW SENSOR #7  KITWSTRIPO3 Weather Strip 22” 1
\ KIT177HP Hardware & Instructions 1
10
o REUSEORMBOLTTROMAIR BOXBASE ' 48 KITI5DHC3050  1/4-20 Button Head Bolt 3
#9 KITO9FWZ019 1/4” Flat Washer 5
#10 KIT15BHC3038 8-32 x 3/8” Button Head Bolt 2
#11 KITHS48 #48 Hose Clamp 1
#12 KITHS52 #52 Hose Clamp 1
#13 KITHST72 #72 Hose Clamp 2
#14 KIT25C87HCSS 1/4-20 x 7/8” Hex Bolt 1
#15 KIT25CNNES 1/4” Nylock Nut 1
#16 KITGRMT10 Grommet 1
#17 KITGRMT11 Tall Grommet 1
REUSE BOLT FROM QEM ANTILOCK BRAKE CONTROL BRACKET #18 KITSPACERO02 Aluminum Sleeve 1
IF EQUIPPED; OR USE SUPPLIED @1/4-20 BOLT, WASHERS & NUT. | 14 KITBIT#01 #20 Torx Bit 1

Tools Required For Installation:
5/32” Allen Wrench & 3/32” Allen Wrench
5/16”,7/16”, & 10mm Socket
Ratchet & Extension, 7/16” Wrench, Side Cutters

C.A.R.B. E.O. Number Applies Only To
Listed Vehicles Up Thru 2008 Models
All Others Pending

2. Remove bolt that holds the factory airbox to the
fender. (Save bolt for later use in step #7).

1. Disconnect negative battery cable.

3. Remove the complete intake system as an
assembly.

A) Loosen hose clamp on throttle body.
B). Push green tab, and disconnect breather
hose at the factory intake tube.
C) Slide red tab, and disconnect the Mass Air
Flow sensor wiring harness.

4. Make sure that you retain the factory grom-
mets in the inner fender from the bottom of the
factory airbox.

7. Install the tall grommet (#17), (groove at the
top), into the Cool Air Dam (#6), and then slide
the aluminum sleeve (#18) into the grommet as
shown. Install the CAD thru the 2 factory grom-
mets in the fender and reinstall the factory bolt
from step #2.

5. Using the supplied #20 torx bit, remove 2 fac-
tory screws, and remove the MAF sensor from
the factory tube. (Save the MAF sensor for rein-
stallation in step #12).

8. If your vehicle has the optional anti-lock
brakes, remove the bolt from the bracket under
the CAD, and reinstall it thru the hole in the
front of the CAD. (See arrow). If your vehicle
does not have this bracket, install the supplied
1/4” bolt (#14), two 1/4” washers (#9), and 1/4”
Nylock nut (#15) thru the CAD and sheet metal,
and tighten.

6. With a pair of side cutters, remove the metal
band that holds the plastic breather fitting in the
factory tube. Next remove the fitting from the
tube, and save it for reinstallation in step #11.

9. Install the filter adapter (#5) into the CAD
using three button head bolts (#8), and washers
(#9).



10. Install the supplied grommet (#16), into 12. Install the MAF sensor from step #5 into
the Airaid Intake Tube (#2)

11. Install the factory fitting from step #7 into the Airaid Intake Tube. Use the two supplied
the grommet (#16) from step #10. 8-32 button head bolts (#10), to securely fas-
ten the MAF sensor.
Do Not Use The Factory Screws!

- ' - W - 1 |

/) o i 2 s | ey

13. Install the urethane hump hose (#4) on 14. Install the Airaid Intake Tube into the hump 15. Install the Airaid Premium Filter (#1)
the filter adapter (#5) with two #72 hose hose first, and then into the reducing coupler, onto the filter adapter (#5). Next install the
clamps (#13). Next install the reducing cou- adjust for fit, and then tighten the four hose weather strip (#7) on the top of the CAD as
pler (#3) small end first, onto the throttle clamps. Reconnect the breather hose, and the shown. Start at the front of the CAD and
body with one #48 hose clamp (#11), and wiring harness to the MAF sensor. work towards the rear.

one #52 hose clamp (#12). Leave clamps

loose.

16. Double check your work!
Make sure there is no foreign material in the intake path. Make sure all clamps, hoses, bolts,
and screws are tight. Double check the hood clearance.

17. Reconnect the negative battery cable!

Included with your Airaid Intake System is a sticker with a California Air Resources Board
(C.A.R.B.) Executive Order (EO) number. This sticker must be placed in plain view inside of
the engine compartment. Failure to do so may prevent you from passing a smog inspection.

Before!

RIRALD
g Filter Cleane’
VAl ¢

Ll 3
Aerosol Filter /

-

P/N 790-551 Aerosol Spray , N
P/N 790-550 Squeeze Spray Date: 0715109




